#Hml4B~38]
H23fE EE AR A = (ke) H245E ERIRC #H & (ke) AR AR E (ke) AR 2 R EE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
o | 48 866,350 920,480 54,130 6.25
# | 58 1,008,870 1,011,770 2,900 0.29
Z | 6A 973,260 950,330 -22,930 -2.36
% | 1R 1,005,620 1,112,690 107,070 10.65
2 | gH 1,131,020 1,057,320 -73,700 -6.52
’4‘ 9A 1,035,120 874,070 -161,050 -15.56
g | 108 956,720 996,670 39,950 418
s | 118 928,920 962,530 33,610 3.62
3 | 128 1,049,490 929,520 -119,970 -11.43
R 1A 907,790 911,640 3,850 0.42
— | 2R 731,630 733,100 1,470 0.20
38 868,450 873,630 5,180 0.60
ar 11,463,240 11,333,750 -129,490 -1.13
T 955,270 944,479 -10,791 -
#Hml4B~3A]
H23sEE R # = (ke) H24sE ER R H = (ke) AXREHIERE (ke) AR HIERE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
I 67,870 62,900 -4,970 -7.32
x| 58 156,470 168,460 11,990 7.66
Z | 6A 204,260 201,530 -2,730 -1.34
% | 1R 6,310 6,810 500 7.92
2| 88 90,960 82,350 -8,610 -9.47
’4‘ 98 213,352 229,450 16,098 7.55
g | 108 65,820 61,430 -4,390 -6.67
S | 118 51,120 56,860 5,740 11.23
3 | 128 243,536 166,840 -76,696 -31.49
R 1A 96,480 155,710 59,230 61.39
— | 2R 82,210 84,850 2,640 3.21
38 125,420 135,500 10,080 8.04
=i 1,403,808 1,412,690 8,882 0.63
T 116,984 117,724 740 -
#Hml4B~3A]
= H23EESYYRR—/R—E (kg) | H245EESYIRAR—/I—& (ke) SyHRAR—/R—iERE (kg) SyyRR—/{—ERE (%)
9 (A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
» | 4R 55,090 50,530 -4,560 -8.28
Z | 58 39,170 42,000 2,830 7.22
<X | 68 37,760 39,280 1,520 403
|D 78 39,330 34,970 -4,360 -11.09
II\ 8A 38,250 37,740 -510 -1.33
= | %A 33,900 38,220 4,320 12.74
— | 108 40,150 37,820 -2,330 -5.80
4 | 118 37,980 33,250 -4,730 -12.45
A | 128 45,850 41,280 -4,570 -9.97
S |18 43,020 46,570 3,550 8.25
3 | 28 34,860 33,620 -1,240 -3.56
A ["ag 54,425 53,440 ~985 181
| At 499,785 488,720 -11,065 —2.21
i 41,649 40,727 —-922 -
#Hml4B~38]
H234EEZ DTS (ke) H245E EZ DTS (ke) DT SHEBE (k) Z DTS RE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
T | 1R 25,840 22,430 -3,410 -13.20
1‘@ 5A8 22,750 23,500 750 3.30
> | 6B 23,210 23,360 150 0.65
5 | 18 24,430 20,992 -3,438 -14.07
£ | 8H 23,780 23,330 -450 -1.89
—~ | 9AH 21,270 23,640 2,370 11.14
4 | 10A 24,090 21,830 -2,260 -9.38
f‘ 118 21,350 19,290 -2,060 -9.65
5 | 128 21,880 20,580 -1,300 -5.94
5 1A 22,600 24,588 1,988 8.80
— | 2R 20,100 18,810 -1,290 -6.42
38 24,720 23,620 -1,100 -4.45
ar 276,020 265,970 -10,050 —3.64
T 23,002 22,164 -838 -
#Hmml4B~38]
H23EE & RM= (ke) H245 EE R RYE (ke) BEYIEREE (ke) BRMIEEE (%)
(A) (B) (B)-(A)=(C) (B)/(A) x 100-100=(D)
. 48 216,925 234,108 17,183 7.92
% 58 256,192 329,453 73,261 28.60
% 64 290,760 192,737 -98,023 -33.71
g | 18 194,489 188,519 -5,970 -3.07
—~ | 88 241,675 226,824 -14,851 -6.15
4 | 98 188,395 188,863 468 0.25
A 108 273,079 296,147 23,068 8.45
S TR 293,858 245,687 48,171 ~16.39
)';’l 128 242513 224,147 -18,366 -157
18 194,210 177,693 -16,517 -850
28 185,533 187,459 1,926 1.04
38 187,468 196,580 9,112 4.86
=i 2,765,097 2,688,217 -76,880 -2.78
T 230,425 224018 —6,407 -




